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Vocabulary 



A

1
We could see footprints

2
There was a robbery

3
The woman went to prison

4
There weren’t any fingerprints

5
The security guards

6
He planned to murder


B


..... a
for two years.



..... b
another criminal.



..... c
were standing at the entrance.



..... d
at the First National Bank.



..... e
in the snow.



..... f
because they were wearing gloves.
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Circle the words and use them to complete the sentences below.


 solveexaminedweaponarrestedinvestigatingevidencedetective 

1
The woman used a knife as a ............................... .

2
It took two years to ............................... the crime. 


3
The ............................... is asking the people some questions.

4
The police ............................... Mrs Sanders’ son yesterday. 


5
The police looked for ............................... in the house and in the garden.

6
Detectives are ............................... the crime right now. 


7
The police ............................... the video of the robbery.
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Complete the words in the sentences below. Then number the sentences in 
the correct order.

..... a
The police finally c .... .... g .... t the robbers. 


..... b
They s .... .... l .... some expensive necklaces. 


..... c
Three c .... .... m .... .... .... .... s went into a jewellery shop.


..... d
They c .... a .... .... d the robbers down the road.


..... e
Two p .... .... i .... ....  o .... .... .... c .... .... s were near the shop.
Grammar
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Write affirmative or negative sentences with the words in the chart and the correct 
form of have to or need to.
	Jack and Leo

Selina

The police officer

I

She
	not stay

write

arrest

tell

not go
	the police

to work

a story

in hospital

the criminal
	tonight

about the crime

immediately

early

about a robbery



1



2



3



4



5
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Write the words in the correct order to form sentences. Add the correct form of have to or need to.

1
the evidence / the police officers / now / collect / ?


2
go / right now / to the police station / Oliver / .


3
the police / not call / we / .


4
a weapon / the security guard / carry / ?


5
of the footprints / they / take photos / .
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Choose the correct answers.
[image: image8]1. Do you have to be / Can you be / Could you be a police officer 
to solve a crime? No, ordinary people 2. could / can / shouldn’t solve 
crimes, but they 3. can / mustn’t / need to have analytical skills. Detectives 
4. can’t / should / must speak to people during an investigation, so they 
5. should / can / could also have good communication skills. One of the 
first and most famous private detectives in Victorian England was Ignatius 
Pollaky, a Hungarian immigrant. He had amazing skills and he 6. can / could / 
needs to understand criminals’ minds. The police often asked Pollaky to help 
them. There were criminals from other countries living in England, but they 
7. shouldn’t / couldn’t / mustn’t speak English. Pollaky 8. can / has to / could 
speak six languages, so he helped the police talk to these people and solve crimes.[image: image6.jpg]
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Ignatius Pollaky
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